M atthh 70 9.2 -2nd App licatrons, lcont) Lessorn I
H.5 1 SL’[ v7 ns- e g (,La%iznfd é 1% éra 70/1,1\4?,

g4.0 ~Fnd
ﬁh}s/i ap p lication ﬁxtch//s/@f

l‘-iﬁ &)/rn%fquﬂfﬁ ons &'@Ohi(ﬂﬂY
O Aje chVes
1) /c?—é’/l/ /zw ’f/h-e / n~/=ﬁ rs-e(;/" Fvi -e"/%tv evj.

s

1) Solve. avr eq e on g ra,/gh /‘cfﬂ//j wf fnj
%ﬁ ¥— fnte r“c,ef')' _M€,-f&—0'rj .



Math 704.5 Approximating the Solution(s) to an Equation Using the Graphing Calculator

~Intersection of Graphs Method:

1) Solve 2zx —5.6 = 7(x — n) graphically using your graphing calculator.
(a) For this equation, what function(s) do you graph in your calculator?

(b) For the method you chose, where/how do you find the solution(s)?

(c) Round the solution to four decimal places.

X-intercepts Method:

2) Solve 2mx —5.6 = 7(x - #) graphically using your graphing calculator.
(a) For this equation, what function(s) do you graph in your calculator?

(b) For the method you chose, where/how do you find the solution(s)?

(c) Round the solution to four decimal places.
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Math 70 Approximating the Solution(s) to an Equation Using the Graphing Calculator
_—Intersection of Graphs Method:

1) Solve 2mx +5.6 = 7(x— x) graphically using your graphing calculator.
(a) For this equation, what function(s) do you graph in your calculator?
YIi= AR +5. 6
Na=FX-T)
(b) For the method you chose, where/how do you find the solution(s)?
Tne X—coovdnade of —fhe *\{3::\ wh of Vuistersechon
ov point where grphs ntersedt,

<« br Vice~versa

J

(¢) Round the solution to four decimal places.

X 7~ 23. 86664

Y= 3. 36606
c@ .
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x-intercepts Method:

2) Solve 2mx +5.6 = 7(x — x) graphically using your graphing calculator.
(a) For this equation, what function(s) do you graph in your calculator?
Yy= aWx+ 5.6 =7(x-T) o~ or subbrack LHS from RHS

(b) For the method you chose, where/how do you find the solution(s)?
“The %-coovdmate of Yhe X—interce st N
or Po‘.y& wihoire Wl/\ intersects Yhe X-axis.
(¢) Round the solution to four decimal places.

X2 XA, 3660H
\/X’x/ 2. ?666*\




